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2YNTETAITMENEZ KOPYOQN
IEPOY NAOY

Bs (igalliUgeyald U3 tidelres UsUlyyeails dle
Koadaseh GUwtUslseh E#0UdeU g3Uleyyd 1987

(KGR
Faejgle ¥ 3
Al 303562.96 |4095901.59
A2 303561.16 |4095892.09
A3 303582.80 |4095888.06
A4 303583.00 |4095889.16
A5 303583.74 |4095889.40
A6 303583.86 |4095890.46
A7 303583.16 |4095891.06

303583.29 [4095891.83
303584.43 |4095891.63
Al0 303584.77 |4095893.58
All 303583.88 |4095894.36

Al2 303583.91 |4095894.54
Al3 303584.68 |4095894.81
Al4 303584.94 | 4095895.86
Al5 303584.21 |4095896.39
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ZYNTETAITMENEZ KOPY®QN W.C.
Bs (igalliUeyalg U3 tidelres UsUlyyeails dle
Koaadaseh GUwuUlssh E#0UdeU g3Ulieyyd 1987
(KGEJ.>
Faejgle ¥ 3
Bl 303559.74 | 4095907.42
B2 303559.24 | 4095905.20
B3 303561.45 |4095904.67
B4 303561.96 |4095906.89
Bl 303559.74 | 4095907.42
ZYNTETAFMENEZ KOPY®QN
KAMIMANAPIOY
+ B (igall00geyald U3 tdelines UaUtyyealls tle +
Kaad3seh) GU¥uUlseh E#aldeU g3Uleyyd 1987
(KUEJ.>
Faejgle ¥ 3
K1 303563.96 |4095890.76
K2 303563.35 [4095887.82
K3 303566.48 |4095887.27
K4 303567.00 |4095890.25
K1 303563.96 |4095890.76
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EMBAAON OIKOMEAOY

(1-2-34.....-1) = 640,93 m2

EMTPEMNOMENA ZTOIXEIA AOMHZIHZ(7750/87 @ex 1070/87)

B1 kd&Auyn 70% * 640,93 = 448,65 m2 max 240
B2 ddunon = max 240,00 m2 max 240
B3 Uwog h=75+150téyn
B4 A 2,5 m
B5 H/© xupol 0,2* 240 = 48 m2
H/© xwpol Kal eEwoTeg 0,4|* 240 = 96 m2
g6 .0. 550 * 240,00 = 2,06
640,93
NMPArMATOMNOIOYMENA ZTOIXEIA AOMHEIHEZ
r1. KAAYWH -AOMHZIH
amé AA
NAOZ (YMAPXQN) = améAA = 214,65 m2
WC (YNAPXON) = 2,27 * 2,28 = 5,18 m2
NPOZEHKH MPONAQY = 6,00 * 3,20 = 19,20 m2
ZYNOAO 239,03 m2 < 240 m2
ZYNOAO KAAYWHEI-AOMHIHEZ + = 239,03
y3 Orkoz NAOZ (YNAPXQN) = 214,65 * 7,20 = 1545,48 m3
WC (YMAPXON) = 518 * 2,30 = 11,90 m3
MPOZGHKH NP = 19,20 * 3,20 = 61,44 m3
ouUvoAo 1618,82
eTT.0IKOTTEGOU = 640,93 M2
r.o OyKOG KTIPIOU/ETTIP.OIK. = 2,06 < 2,06
EPIro: MPOZOHKH NMPONAQY ZTON IEPO NAO ATlIOY IQANNOY

IEPOZ NAOZ Ar'lOY IQANNOQOY NMPOAPOMOY, ENOPIAZ BEAANIAIAZ

OEZH: ENTOZ OPIOOGETHMENOY OIKIZEMOY KPEMMYAIQN THZ T.K.
KPEMMYAIQN THZ A.E. XIAIOXQPIQN TOY AHMOY MYAOY-NEZTOPOX

IEPOZ NAOZ Ar'lOY IQANNH NMPOAPOMOY

EPTOAOTHz: ENOPIAY BEAANIAIAY

MEAETHTHZ: KAAAHZ AHM. TOMNOIPA®OS MHXANIKOX
AOYNAMH AIK. APXITEKTQN MHXANIKOXZ

AP.ZXEAIOY

A2 AIATPAMMA KAAYWH2

KAIMAKA 1:200 HMEPOMHNIA IOYNIOS 2018
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